H £ 0l & AF & S

Al A

0248 =0ila eS| Hdstst
FA Bdsiglt
B BMSSC AR
el BdsSsTAEY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Zdsist 4,304,508 3,203,820 1,100,688
gastsT Al7E 461,417 295,443 165,974
BAsIsTAIRY 461,417 295,443 165,974
HAstg Al Xt 715 63,610 67,563 A3,953
201 fer= 3| 29,450 35,514 6,064
01 At 2|l 14,736 14,500 236
SHEER=1] 8,400
S EMSISERSHNUADERS
3,000 300 +53| xB0%<E &> 3,600
— B A5t S THE (e-book E &)
20,0002 *300+80%<E 2> 4,800
o2gsg 4,800
—mMESEO Al
100,000 10 *23] +80%<ZE 2> 1,600
—EMSSASTIEISI B LY
100, 000 x20 & #23| +80%<E 2> 3,200
o3l 1,53
—BASE SRR DAY
8,000 x5 482 xB0U<E 2> 1,536
2 ZT2H| 14,714 14,714 0
OBZRIYLHA 4,814
—HIBMSEC B
4,000,000& *12] 4,000
—SHOIN&EASAIESE
504,000 12 5%4
—SSLAISAAME= 220,000 *12 220
OAlE &8I Xl 9,900
—HUSISEHOIRNAZE R 24=H]
9,900,000& %12 9,900
202 04| 3,360 3,999 A639
01 =UHoi bl 3,360 3.9 £639
OB MStEADER0H|
20,0002 x5S #4222 xB0U<E &> 3,360
203 HR=H| 1,350 1,350
03 A=A FAIH| 1,350 1,350
O8ds=gexd
1,500, 0002 x00%<E 2> 1,350
204 MR AH| 24,450 22,050 2,400
2 S3g =3l 24,450 22,050 2,400
OotielgsHl 24,450
— = (39Y) 50,0002 x30E «12& 23,400
—AIZHI I 2D R (22)
50,000 2 » 128 x35/40 1,050
301 EtE2 N = 5,000 6,000 21,000
14 0Bt 243 5,000 5,000 0




od
i’
oF
uJ

il Il 2188 8188 2188 S il Q88 218 &
QO | O | © OO |O Yo BYo N Ne V) (ep) OO |O o1 O ©
- R SRIE NS EE sle |g
Ki0 <A - -
E
E=)
8188 28188 8188 2l8|° S 28 elefe e e
N (NN N (NN S(3|S oD 0 S|S
ol
L]
RIS
818818 18818 ] 18818 818|818 8 S 8 21818 SR (818 8 S 8 2188 S8
O | N | AN | AN [QVAN ISl IS IS < OO | OO OO NN Al oo OO |O OQ|lO|O|O O (@) (@) OO |O O | O
S NN |N N|glgld v e|glgls glglds N N v Slg|le Slg|e|ls s« ¥ o <lg|le gS|d
3
<
S
= N N N = A N = A A N =
2 A0 A AD g A0 A0 z A A z
N il Rl AW X Rl R S RlOR RN =
0 X% % % S % % 5 % % X% 5
o (9 : - g 58 g 5 B B g
Mw o ol A omc o o = W oW o e
21" 58 g 8 : g 8 wE XE B | =
W_ﬂ = m < (o)) _© mﬁ5._.o4nlu Te) =
—_ A < 00 10} = M_l W
=3 i_x9 o o <k ok [ i R ujo xJ
. ma 0 .|r..A| % < KR ol Rr =~
= =z ) A0 B ) il = I ) S 1o
N oF |& 3 O 0 0 K Ao KW= oo oW ~
S R X 2 T o Q) jii ) GIRCTRNE - ¢ 30
F (W)= =G w3 o Y = aq o e A o
o ez 2 |Plalz® 2 x|zl (Y ElE., o D W = W Sls®0 ®m oW |5z @ |5
. |P = |50 |3 B sofs P T (x| o 0O|g|s|m 90w s P |zl P |gls|o PEr @ x (mw W fur
= |90 o OB |08 0 =g o S || |@m F|S|m|@m EE e |S|g O |s|H|m e N | A (FIE (W
_uo Dz o Wiz D O w0t Z|w|z|ok I =0 7DD |mlafg D0 008 (w0
RO | %0z |on|{®0 X0 |<plob|®0 B T |[=|ol|< AO|<p|ob|< 0 | 0 20 |z)|a) B |qplon|= ®0 | _ _ 8 |R WK
c |CPlEIsls © |u|sls © © |Fis|s Cluls|s © 8 C |sly O ||zl © sy O |8
X o) | R ) | S o | < | I} ) | & o F
I 50 3 0 50




SN BASET
BH: BUSISCADE
ol BdsSisTAITY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Tt =S F = 102,623 102,623
OZAE(SotelasSir) 2857 45,428
—li=asd=5+Y 4,034
A IHHIOIE 169,000 ~2H 338
1Q1A T} 462,000 ~8HK 3,69%6
—S0reldEES7Y 6,800
- &elt 300,000 x4 1,200
- SE(ULR) 2,000,000 %14 2,000
- RoEEA 400,000 <2H 800
- ZolA2Tt 130,000 * 10H 1,300
- SHZ0I 2l A (652! XI)
1,500,000 *17HK 1,500
—SYdsd=57Y 23,994
2 60,0002 *54 300
IV ESIDN; 130,000 *5H 650
FSPN=E=- 4,246,000 ~1CH 4,246
EEPIE, 2,640,000 *1CH 2,640
- HIOIADIEY 3,234,000 *1TH 3,234
Aty 8,571,000& = 1CH 8,571
JIEtEHI 4,353,000 * 14 4,353
—HiDILIEES 7 10,600
- H2ERC 1,000,000 %14 1,000
- A 300,000 *1H 300
IV ESIDN; 130,000 *30H 3,900
=HEHY 360,000& * 157K 5,400
O2IASEANL(MPASHIA)EEFY 27,316
—32d=FFY 4,010
o EE 400,000 *2K 800
oZoXt 130,000 1204 1,560
Ml 330,000 *5H 1,650
—ARH=SEFY 14,240
43 500,000 14 500
Hat 430,000 *4 K 1,720
SIDN; 230,000 =4 920
- PC 1,300,000 44 5,200
- IR 330,000 *5H 1,650
- Y 150,000 x2H 300
- WElE 250,000 +8LH 2,000
ell= P ESkel ) 300,000 +4CH 1,200
SMAIEII 750,000 *1CH 750
—SE(5L. 7as)sU=357Y 9,066
- HIOIE2 Xt 168,000 *7H 1,176

_3_




FA Bdsiglt
HE: PUSISCTAPE
ol BdsSisTAITY (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1elAmt 429,0002 = 1094 4,290
- OHHOIA A 3,000,000 *1H 3,000
- ZolE2 A 130,000 *3H 390
OISANE 210,000 *1H 210
OS4HsAE (R UASIHA)EEFTLY 29,879
—2c|UAdES7Y 24,841
AU(Aa=EE)
2,000,000 %14 2,000
sSRTY 750,000 64 4,500
SESE =9 1,400,000 *1CH 1,400
- HE(1,06121E) 2,730,000 *1CH 2,730
- MIeE 900,000 *2CH 1,800
- AKX 250,000 2CH 500
eledd 579,000 *7CH 4,053
- Zclth 3,500,000& *14] 3,500
- ZOIASXt 130, 0002 * 1204 1,560
- 6RIEIOIS 400,000 *2K 800
- FEIIRASI 1,008,000 1CH 1,098
CHBNEE 300,000 «3H 900
—U=sHdES7E 5,038
- A 288,000 1M 288
S 60,0002 *25H 1,500
AF=EX 130,000 +25H 3,250
gstisazda] 91,584 91,584
101 @124H| 32,504 32,504
M ORINZZE2NSE S 32,504 32,504
OBYSISA2IARAYGUHES 2 EE)
2,257, 2003 x2H 02 A80U<E &> 32,504
201 fet= 3| 59,080 59,080
01 AtR2t2|HI 59,080 59,080
Oget+=EHI 6,800
—HMSSATZ2NURHEEEMHS
3,500,000 «80%<& &> 2,800
—gdsisAEgAcINRESES Y
5,000, 0002 x80%<& 2> 4,000
OFL2EMA LB+ HHEIIEX]
7,600,000& 7,600
Oogxz 1,240
—HASADISIE
105,000& »1CH+83 840
—d28=)| 25,0002 =2LH+8E 400
O2g=g 43,440
—UAM= 70,0002 *30E 202 42,000




SH: BMSET
B BMSSC AR
ol BdsSisTAITY (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—ZAIE A AR
150, 0002 *6H 25| «80%<E 2> 1,440
HMstsAld 29 1,582,880 958,965 623,915
HAsISAIE =Rl 1,582,880 958,965 623,915
PSYNEINR fall 1,114,855 798,000 316,855
201 B2 AL| 1,110, 151 798,000 312,151
01 ArR2eltl 1,110,151 0 1,110,151
Ozels9| 1,108,000
= E 507,000,000& 507,000
—as 305,000,000 305,000
—&01, 1A 296,000,000& 296,000
O=&Hl 2,151
—2ZHRFEZ A
8,000 *4H »48 2 +B0%<E 2> 1,229
—ANEHRFEZ A
8,000 *3H x4 +80%<E 2> 922
202 04d| 4,704 4,704
01 =WOdbI 4,704 4,704
ORIHRFA0NLI
20,0003 *4H +42 U «80%<E 2> 2,688
OANEHRFA0LI
20,0002 *3Z #4222 +80%<E 2> 2,016
A A2 (MEN HAsHER) 156,648 160,965 A4,317
201 L2 | 156,648 160,965 AN4,317
01 A=R2teld| 28,354 29,212 A\858
Oget=ZH| 25,040
—SLINE+R 2,940
sSIIsAN2e|td++=2
110,000 =20 12& 2,640
SN EIN A== 2
150,000 *2CH 300
—GPLHEI R ESUHE 2
723,000& 123 8,676
—R0IAHAA T
150,000& «12& 1,800
—Slgs22dAer2
120,000& 120
—2BAEEZE=2 2,000
SSEYEA 1,000,000& 1,000
ASI)|SsEE 1,000,000& 1,000
—&JjptMae|E~=
500,000& =123 6,000
—ANAEHHHAUDIIEEAH
100,000 *9CH 900
—SADIARD | BE 22
100,000& 100

_5_




SH: BMSE
M HMSISAE 2F
. BMSISAIE KA2el (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
NYESEVGIEREY]
660,000 660
—SIHAUES 2,304, 0002 +80%<& 2> 1,844
ogx=z 1,778
—Hldgxz 21,1603 +7CH+ 128 1,778
o=l 1,536
—AELRFASAM]
8,000 *4H x60 2 +80%<E 2> 1,536
02 3244l 128,294 131,753 A3,459
O3=SIZLHA 68,124
—& - ol=ER3 1,000,000& 123 12,000
—dIIe3 4,500,000 122 54,000
—ENZAIEZE S HHA S
1,044,000& 1,044
—A48 - JpACHM S E 3|
50,000& 50
—AUSIIZHENS 30,000 30
—NSIAEEEE 500,000 *2CH 1,000
OH = 34,116
—SADIAHSHHEHE S E
24. 263 +10,000MJ* 140 33,964
—Hl&ZMI|HZY| 1,520& 1002 &H 152
OAIZ EHIR I 21,616
—JIAEHI (RIS KIS )AE S X
2,500,000 2,500
—2=2YAh2 1,850,000& 1,850
—2AZ2KXIBI(25E0]8})
3,530&4,891.07m 17,266
OX+H| 4,438
—ZE8sE 5,247,000 *80% 4,198
— &It 300, 000& *80% 240
HAgX 2 (E2 SE2HE) 101,389 101,389
201 L2 | 101,389 101,389
01 ArR22elt| 10,714 10,714
OgBt==2H| 8,852
—SHINEE==2 1,470
SIS A2 CHEH
110,000& »1CH* 123 1,320
S2I|EIIEE 150,000& 150
—SRoIAUIAA =2
150,000& x 12& 1,800
—aPANEEFE L2 990
SSELEZ 990,000 990
—&JjtM 2|2
154,000& *12& 1,848

_6_




SN BASET
B BASSAlM 29
Celr BAssAlE |2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEADIAEIIE ISR
100,000 100
— SIS EH 2,304,000 «80%<& &> 1,844
423 1,000, 0002 x80%<& 24> 800
ogxz 1,862
—Hloaxts 15,9003 »80H =123 1,527
—F=I|YRE 27,9002 10+ 122 335
2 S3=gHl 90,675 90,675
OZZ a2 HAl 51,250
—&ot=ER3 500,000 * 122 6,000
—&JIe= 3,600,000& «12& 43,200
—ANESXSHA S 2,000,000& 2,000
— YA WSS 50,0002 50
Ogzh| 6,114
—CAAASHHHSEXE
24263 *21,000MJ= 123 6,114
OAlE &8I Xl 33,311
—IJIAEBI(RHSHI0IIS) A LRI
2,000,000& 2,000
—A2K]XHI(5=015tH)
1,067&%2,231. 18m’ 2,381
— A= 25,850,000 25,850
— &I e LR 3,080,000& 3,080
BAsX2el(ds S823dd) 190,259 190,259
201 etz 3| 175,259 175,259
01 At 2|l 26,760 26,760
Oget=EH| 25,317
—s¥|I8gd+== 2,280
SN
110,000 »2CH*93 1,980
SZIIEIIZA 150,000 *2CH 300
—RoFHNAE =2
150,000& +x9Z 1,350
—agANEEE = 5,487
=5 2,904,000& 2,904
2EZ 287,000 0 2,583
—do|etE 2|l =2
1,190,000& x0 10,710
—SADIARDIEEE
100,000 100
—AUSINEIIEEs=E
990,000 990
—SI AU EEH 4,000,000 =80%<Z 2> 3,200
—A23H| 1,500,000 *80%<= &> 1,200
Oogxt= 1,443




FA Bdsiglt
M BASEAL 2
Hel BdsisAlE sAl2el (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Hloaxts 22,003 +7CH»93 1,443
2 s5=34l 148,499 148,499
OZ2Z22=ZHAl 75,612
—& - otk Rs 2,500,000 9 22,500
—&JIes 5,000,000 93 45,000
—ANEg XSS HIbI
140,000 92 1,260
—HEANLEMH= A SHILI
710,000 ~9E 6,390
—A42 - DA NS E |
48,00021+9% 432
—HUBIIEHEDSSSR
30,0002 30
ogizH| 54,000
—CADABHI YU SBER
243 %250, 000MJ*9Z 54,000
OAlZ &I Xl 18,887
—JIAEBI(RSH0IIS) AKX
600,000 x0 5,400
—AHERXHI(50I5t)
1,067#%12,639.36m’ 13,487
401 AIEHIZ SR 0HYI 15,000 15,000
01 Al&H| 15,000 15,000
OAMRISRIHSEX 15,000
—SSUNAAMASHERLEXR
15,000,000 15,000
A AlE 2 (B2, AS) 19,729 19,729
405 KHoHFSHI 19,729 19,729
01 L ESFISHI 19,729 19,729
OANEESFM(Sal) 13,529
—ZHI=S 11,879
& X120l 370,000 «5H 1,850
- 2 XIES A 359,000& *10H 3,590
- SEEA 200,000 +2H 400
- A1) 420,000 4K 1,680
- AIH32E) 759,000 1K 759
CISES RN, 200,000 *3H 600
erLHBIA A 3,000,000 =174 3,000
—SESFHNL=S 1,650
- HUZAT 130,000 x2H 260
=SS! 500,000 1K 500
- Xt e K 140,000 *1H 140
- A 200,000 +2H 400
CEHAETH 350,000 *1H 350

_8_




FA Bdsiglt
M BASEAL 2
Hel BdsisAlE sAl2el (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAESERM(AS) 6,200
—SESUES 3,000
eHLHBIA 3 3,000,000 %14 3,000
—SEY9RNL=ES 3,200
AtEEIRE 300,000 x5H 1,500
FaPALE (FIPNESE) 300,000 *1H 300
- dHE 500,000+ 1CH 500
- &t eI 140,000 *1CH 140
e 300,000 *1H 300
SIDN; 230,000& *2H 460
AH2LZH(BHEsD 2,260,211 1,949,412 310,799
A2 (HMssm) 2,232,542 1,913,658 318,884
elHA2HH|(HMsS) 2,232,542 1,913,658 318,884
101 e124d| 2,232,542 1,911,975 320,567
01 2= 2,123,179 1,626,656 496,523
O¢1=(34) 293,497
—43 105,902
JlEe3 96,030,000 1813 96,030
SSEPFals]
96,030,000« 1H*1Z*2. 3% 2,209
s 98,239, 0002 *130%+*6% 7,663
—538 187,59
JlEe3 85,054,000 28« 1& 170,108
SSEPFals]
85,054,000 < 2Hx 12 2. 3% 3,913
s 174,021, 0002 *130%+*6% 13,574
0O82(333) 1,220,028
—6= 4,183,500 «8H 123 401,616
72 3,216,400 x13F* 122 501,759
—8= 2,110,800 «8& «12& 202,637
—9= 1,865, 7002 x4H 12 89,554
—XIHEHI 37,063,000 *33H * 1E 2% 24,462
OF={}=, 133,157
—&d2=¢ 48,440,0003 x33Z * 12 +8.33% 133,157
OAltRAZ 25
11,3192 x10B 351 2H+ 12 % 1. 02+ 75%<E 2>
36,368
(OFSE.ES) 75,802
—JIESE 30,912
- i< A 40,0002 x30F « 12 9% 12,960
JIEF 20,0003 *30E 12 *161% 11,592
- SMHA 70,0002 68 122 5,040
- ARHOI= XHA 110,000 x 12 * 12 1,320

_9_




SN BMSET
B WESHAH| (WA
CHel: QI 2HH|(HMSED) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-2+ (22Y) 22,320
- 2580l & 130,0002 62+ 122 9,360
20~25 012t 110,000 x1&* 122 1,320
- 1520018t 80,0002 6 122 5,760
10~15 012t 60,0002 x4 * 122 2,880
- 5~10= 018t 50,0002 x5~ 12 3,000
—DEHISRAE 50,0002 x1& 122 600
—UHRSPA=E(9Y) 16,090
o= 4,314,000& 4B+ 123 *4. 1% 8,490
= 3,317,000 x4 H 122 %4 1% 6,528
= 2,177,000 x1& =123 *4. 1% 1,072
—Jl=3exE 600
o= 30,0003 1 * 122 360
=] 20,0002 x 18~ 122 240
—Jled2sEgikts
30,0008 x 1 x 12 360
—AtA g 4,920
- 55014t 30,0002 x1& * 122 360
- 6=0l5t 20,0002 x19E «12& 4,560
OsAFE+E 9,000
—4= 200,0003x 1 ~12& 2,400
—5=2 150,000 x1&* 122 1,800
—6=0l0t 100,000& x4~ 123 4,800
OZ A ZAMH| 140,000 «36E « 122 60,480
Og &SIl 133,210, 0002 x60%*23] 159,852
Ot &I 53,155
—A=S2(4=) 8,320, 0003 *1& + 1 %27% 2,247
—AS=(53) 7,378,000 <2 + 12 %2%% 4,280
—LENS 4,037,0003 +33% + 12 «35% 46,628
OZZEXHI(36Y) 81,840
—4= 400,000 «1H* 122 4,800
—538 250,000& x2E12& 6,000
—62 185,000 x8& 123 17,760
-2 180,000 x 13 =122 28,080
—8-95 175,000« 12 =123 25,200
02 JIEtA = 109,363 109,962 A5
OAIZHHEHHIAI I M A S (2F) 87,702
—J22(t23) 40,256,000 1 40,256
—JlEs(22) 36,795,000 *1H 36,795
—X2I&8l 77,051,000&%3. 1% 2,389
—dlgs 79,440, 0002 *130%+8% 8,262
OAIRIE A M =L (2F) 21,661

_10_




FA Bdsiglt
A HYRAZH|(BYSEL)
CHel: Q12| (HASHSDL) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NFOECT
11,3192 x2Z+30A| 2H+ 12 +1.02+75%<E 2>
7,274
—JtE=4 1,637
i EON; 40,0002 +0.9=2H 122 864
- JIEt 20,0002 %1.61x2&* 122 773
—SARg(54012) 3,700
=
3,355,000 x40/ 35+84%+5+ 122 » 1 1,933
cts
3,066, 2503 *40/35+84%+5%+ 122 x 18 1,767
— NG 140,000 x2&* 123 3,360
—AZ82xH| 3,833
Be= 185,000 1 #1221 %35/40 1,943
cts 180,000 x 128 » 122 +35/40 1,890
—QIOE &I 1,857
= 3,355, 0002 12 +84%+86%+ 12/30 970
==} 3,066, 2502 * 12 »84%+86%+ 12/30 887
Jl=ZHI(BdstE) 27,669 36,754 /8,085
Jl2dul(Edssn) 27,669 35,754 28,085
201 fer=3| 9,922 18,432 /8,510
01 AtR2tc|HI 9,922 18,432 28,510
Oget=EH| 7,080
—FA2E+SYl
9,440,000 +75%<= &> 7,080
O=gl 922
—SANSSYR=ISAHI
8,000 122 122 x80U<E &> 922
Oogxz 1,920
—&A=EAD|ERE
105,000 1CH* 12 1,260
—d2dJ)&8R=
55,0002 1CH* 122 660
202 04| 2,447 10,062 AT,615
01 2LHA b 2,441 10,062 AT,615
OEMSIS2ILR=A0HI
97,4003 4 3L 22| x80%<E &> 1,871
OFA2IERFA0
20,0003 * 122 32 +80%<E 2> 576
203 HR=4AY] 8,100 5,460 2,640
01 J 22 HR LI 3,300 0 3,300
(OPJEC sopehes B otatSlal 3,300,000 3,300
02 ZRAJMAHARFAI| 1,800 1,960 A160
OZEIRIE R 40,0003 453 1,800
M EASHLRFAH 3,000 3,500 2500

_11_




of
i’
oF
uJ

-

KIO

Hlw

5,400
5,400

MEE
Ofl &k2h

1,800
1,800

ol &rey

3,000
7,200
7,200
7,200
4,800
2,400

- ESS

- SRA(E) - HIRAY

S LRE-L

0

250,000 14 2+ 1228

0
=t
10

oF

KM

T

A
150

ok
ol
Rl
Rr

400,000 x1E~ 128

100,000 x2H 122

_12_



